Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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_ Max. Marks: 100

Note: Answer any FIVE full questions. itbosing ONE full question from each module.

Dt

F1nd the bilinear
respectively.

06 Marks)

(07 Marks)
i 1 i i (06 Marks)
. Y . .
w‘a'* ; 5 ‘“

—|f(2) |j (—— ] f(z) || 3lf (07 Marks)

(i) o))

Find an analytlc function f(z .= u +iv, given

u—v=e*(cosy — siny) : (07 Marks)

.

Module-!

Discuss the transfé ation w = ¢“. Show the transform in z—plane and w-plane. (06 Marks)

Evaluate I—-—————- (07 Marks)
(z 2)(z—-5)
N z—1+1 'a |
Evaluate ' J. (x —1y)dz ali:mgthe followmg curves:
& z=0 .
The straight line y = x@ ' (07 Marks)

sformation that‘maps the points z = -1, i, 1 onto the points w= 1, i, -1
(06 Marks)

Discuss the transformation w =z +—. Show the transformin z and w planes. (07 Marks)

z
State and prove Cauchy”’@sq;ihtég’ral formula. (07 Marks)
Module-3
Find the value of k. such that the following table represents a finite probability distribution:
T -2 -1 0 1 2 3
P(xp).) | k 2k 3k 4k 3k 2k k
Find the mean and the standard deviation of the distribution Also find P(x >1) and

(06 Marks)
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all chance of 0.002, for a blade to

be defective. The blades are supplied in packets of IQN sing Poisson distribution, calculate
4) no defective ii) one defective

the approximate number of packets containing, )
iii) two defective blades in a consignment of 10,0 0 ‘packets. (07 Marks)

For the normal distribution with mean 2 and sta idard deviation 4, calculate the following

probabilities:
i) P(x>5) i) P{|x | <4}

(07 Marks)

A fair coin is tossed three times. ads showing up. Find the
distribution of x. Also find 1tstmean*vanance and standard de“\uatlon (06 Marks)
An underground mine has 5 pumps installed for pumpmg out storm water, the probability of
any of the pumps failing during ‘the storm is 1/8. Whatis.the probability that

i) At least 2 pumps will'bg workmg i) All pumps Wlll be working during a particular storm?
o (07 Marks)

At a certain city bus top, three buses arrive per hOur on an average. Assuming that the time
between successive arrivals is exponentlallyt%dlstnbuted find the probability that the time
between the arrlvalé“of successive buses is’ .

1) less than 10 mlnutes ii) at least 30 inutes. (07 Marks)

Mudule-4
If F ‘is"the force required to hﬁt load W, by mass of 9 “pulley, fit a linear expression
=a+bW against the followmg ‘data: .

W
F
(07 Marks)
Employ the formula r= — tt) determme the coefﬁCIent of correlation r, for the
following data:l,«‘ ;
x:]92[89]87]86] 83
(07 Marks)

The tangent of the angle G%b%%een the lines of regress1on ofyonx and xony is 0.6 and
find the coefficient of

(06 Marks)

CMRIT LIBRARY
RANGALORE - 560 037

06 Marks)

(07 Marks)
curve of best fit of the form y = ax® to the following data:
xo b2k 304 5
y:|0542 (458|125
(07 Marks)
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Module-5 o
The joint probability function for two discrete rand()m variables X and Y is given by
f(x, y) = ¢(2x + y) where x and y can assume all infe egral values such that 0 < x < 2 and
0 <y <3 and f(x, y) = 0 otherwise. ;

4 %
The life time of electric bulb . ﬁ)r a random sampling of IOfmm a large shipment gave the
following data: ¢

Life in ‘1000s of hrs
(10 Marks)
X &) CMRIT LIBRARY
14 0.1 2 0.2 BANGALORE - 560 037
(10 Marks)
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